
Device  ADD: XXXX Device ADD: XXXX Device ADD: XXXX

Device  ADD: 00
Device ADD: XXXX Device ADD: XXXX

Broad cast_reset

Read @0x00
[0x00}

[0x00]= 0xxx 
xxxb

Device  ADD: 01
Device ADD: XXXX Device ADD: XXXX

Assign Address
ADDR_CTRL[]=++n

Read @n, 
ADDR_CTRL[]

ADDR_CRTL[]= 
n?

Broad cast_reset

Read @0x00
[0x00}

[0x00]= 0xxx 
xxxb

Assign Address
ADDR_CTRL[]

Read @n, 
ADDR_CTRL[]

ADDR_CRTL[]= 
n?

Device  ADD: 00
Device ADD: 00 Device ADD: XXXX

Device  ADD: 01
Device ADD: 02 Device ADD: XXXX

Broad cast_reset

Read @0x00
[0x00}

[0x00]= 0xxx 
xxxb

Assign Address
ADDR_CTRL[]

Read @n, 
ADDR_CTRL[]

ADDR_CRTL[]= 
n?

Device  ADD: 00
Device ADD: 00 Device ADD: 00

Device  ADD: 01
Device ADD: 02 Device ADD: 03

N==expected 
system size?

Done

Error

i--==0?

Done

N Y

N

1st broadcast reset will reset 1st IC add to 00.  

Write 1st IC add to 01. Can not access to IC2 because 
device 2 address is unknown. It can be anything. 
Verify IC 1 address.  If read 01 then move on to next 
broadcast reset

2nd broadcast reset will set IC1 and IC2 device 
add to 0x00. See example below for further 
explanation.

Write 1st IC add to 01 and 2nd IC to 02. Can not  access 
to IC3 because device 3 address is unknown. 
Verify device address for both IC1 and IC2. If okay 
then move on to 3rd Broadcast reset. 

3rd broadcast reset will set IC1, IC2 and IC3 
device add to 0x00. See example below for 
further explanation.

Write 1st IC add to 01, 2nd IC to 02 and 3rd IC to 03. 
Verify all three device add  IC1, IC2 and IC3. If okay 
then addressing is completed. 

IC 1                               IC2                             IC3

Y

N

Y

N

Y

N

Y

Flow chart  for programming 3 Ics. 
Datasheet has flow chart for programming more than 

3 ICs. 

Should have programmed all 3 ICs. Continue to 
next broadcast reset if there are more than 3ICs.

Broad cast_reset

POR

N=0, 
i= expected+1

Device  ADD: XXXX Device ADD: XXXX Device ADD: XXXX

Example of broadcast_reset

Broadcast messages are only received by devices with a valid address, and the next 

higher device. Any device with an address of 0x00 blocks messages to devices above 

it. A broadcast message may not be received by all devices in a stack in situations 

where some devices do not have a valid address.

Ex 1

Since device 1 does not have valid address, therefore, it will reset device 1 only. 

Device  ADD: 01 Device ADD: 02 Device ADD: 03

Ex 2

Since device 1,2,3,4 has valid address. It will reset device 1,2,3,4 and the 
next higher deivce( device5).  

Device  ADD: 01 Device ADD: XXXX Device ADD: XXXX

Ex 4

Device 1 has valide address. It will reset device 1 and the next higher 
deivce( device2).  It will reset device 1 and device 2.  

Device ADD: 04 Device ADD: XXXX

Device can not communicate if individual device does not have right address.  

Host can only talk to device 1 and device 2. 

Device  ADD: 01 Device ADD: 02 Device ADD: XX Device ADD: 04 Device ADD: 05

Ex 3
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